(7))
(<))
"
()]
(7]
g
oN
N
—
T
(<))
L o |
=
<C
o.
1
(=]
(&
)
=




Wabco Repair Kits - PAN 19-1 / 22-1 Series

3148 - PAN 19-1 / 22-1 3149 - PAN 19-1 / 22-1
Caliper Roller Bearings Caliper Lever & Pin

3150 - PAN 19-1 / 22-1
Caliper Gasket & Seals Repair Kit
REF DESCRIPTION DIMENSION QTY
01 3551 PLUG 1
3150
02 3552 SEAL 1
—d 03 3553 GASKET 1
e e
03 S
\\I'.'IZ ﬁ‘l/
12 999 738
REF DESCRIPTION DIMENSION QTY
3155 - PAN 19-1 / 22-1 01 3503 GUIDE PIN (SHORT) 38 x 76 mm 1
Caliper Guides & Seals Repair Kit
02 3504 GUIDE PIN (LONG) 38 x 118 mm 1
03 1513 BOLT (SHORT) M16x1,5 x 80 mm 1
s 04 3514 BOLT (LONG) M16x1,5 x 120 mm 1

05 3522 GUIDE PIN BUSH 42 x 38 x 30 mm 3

=AW 3155
06 3531 ADJUSTER SCREW GAITER 1

)
e
ax a i 1," 3 u’ﬂ 07 3533 GUIDE PIN GAITER (GREEN) 2
% % 08 | 3534 GUIDE PIN GAITER (WHITE) 2
— —
o4

L 09 3542 STEEL COVER (SHORT) 2

L 10 3543 STEEL COVER (LONG) 2

11 3551 PLUG 1




Wabco Repair Kits - PAN 19-1 / 22-1 Series

12999 776
3156 - PAN 19-1 / 22-1 REF DESCRIPTION DIMENSION | QTY
Caliper Guides & Seals Repair Kit 01| = bbb labdabii !
02 3504 GUIDE PIN (LONG) 38 x 118 mm 1
03 1513 BOLT (SHORT) M16x1,5 x 80 mm 1
o i 04 3514 BOLT (LONG) M16x1,5 x 120 mm 1
a a 9 - 3156 | 05 | 3522 GUIDE PIN BUSH 42X 38 x 30 mm 3
o7 1w 08 06 3531 ADJUSTER SCREW GAITER 1
E % 07 3533 GUIDE PIN GAITER 2
2 n 08 3542 STEEL COVER (SHORT) 1
= h 09 3543 STEEL COVER (LONG) 2
o4 5]
10 3551 PLUG 1
3157 - PAN 19-1 / 22-1
Caliper Adjusting Mechanism
REF DESCRIPTION DIMENSION | QTY
- '=j—_1- . 01 | 3562 ADJUSTER PIN e 1
'___..=g= d. 02 3165 CALIBRATION BOLT Long Pin 1
?ET_ - 3157 | 03 | 3563 CLUTCH 1
04 3555 SPRING RETAINER 1
05 3564 RETAINER 1
e P a ° 06 3565 SPRING 42,5 x 22 mm 1
o3 os 06

3158 - PAN 19-1
Caliper Push Plate (Left - PAN19)

3159 - PAN 19-1
Caliper Push Plate (Right - PAN19)

3165 - PAN 19-1 / 22-1
Caliper Calibration Bolt (With Long Pin)




Wabco Repair Kits - PAN 19-1 / 22-1 Series

3160 - PAN 19-1 / 22-1
Caliper Seals & Boots Repair Kit

3166 - PAN 19-1 / 22-1
Caliper Washers & Circlips Repair Kit

3168 - PAN 19-1 / 22-1
Caliper Adjusting Mechanism Support

REF DESCRIPTION DIMENSION | QTY
3160 | 01 3531 ADJUSTER SCREW GAITER 1
02 3533 GUIDE PIN GAITER 2
REF DESCRIPTION DIMENSION | QTY
01 3554 WASHER 41,4 x 314,25 mm 1
02 3555 SPRING RETAINER 1
3166 | 03 3556 CIRCLIP 1
04 3557 WASHER 49,4 x 335,5 mm 1
05 3566 SPRING 22,5 x 24 mm 1
06 3558 WASHER @45 x @32 mm 1
REF DESCRIPTION DIMENSION | QTY
3168 | 01 3567 SPRING 20,5 x 41 mm 2
02 3572 MECHANISM SUPPORT 1




Wabco Repair Kits - PAN 19-1 / 22-1 Series

6401759202

3169 - PAN 19-1 / 22-1
Caliper Seals Repair Kit
3169 02
e, 3551 PLUG 1
e / = . 03 | 3552 SEAL 1
0 02 03

REF DESCRIPTION DIMENSION | QTY

01 3531 ADJUSTER SCREW GAITER 1

3171-PAN 19-1/ 22-1

Caliper Gaiter Retainer Set

3161 - PAN 22-1 3162 - PAN 22-1
Caliper Push Plate (Left - PAN22) Caliper Push Plate (Right - PAN22)

3173 - PAN 19-1 / 22-1
Caliper Adjusting Mechanism Assembly
REF DESCRIPTION DIMENSION | QTY
- 3157 ADJUSTING MECHANISM 1
3173
- 3166 WASHERS & CIRCLIPS REPAIR KIT 1
- 3168 ADJUSTING MECHANISM SUPPORT 1




